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S SHZHDY
Hu: gEQs YEsE
ool HolsYel ey CHo|: & 2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
= 35,000
= 28,000
05 QI2t9IEr 3 63,000 63,000 0
Oz} = 63,000
= 35,000
= 28,000
SogZYAHEE 108,000 108,000 0
= 90,000
= 8,000
308 XHXIEHH S 108,000 108,000 0
= 90,000
= 8,000
01 REXISHAI 108,000 108,000 0
Os0{ X2 108,000
= 90,000
= 18,000
= 0H| AE{ CH 8 ,030, 193 905,834 124,359
= 660,380
= 369,813
307 Q20| ,030, 193 905,834 124,359
= 660,380
= 369,813
02 LIt A ,030, 193 905,834 124,359
O 0t0l 1N 2PN ,030, 193
= 660,380
= 369,813
SoAAH FRE TR 45,000 45,000 0
= 45,000
308 XHXI EHHI S 45,000 45,000 0
= 45,000
01 REXISHAIZ 45,000 45,000 0
=Y s m20g X
2K 2 *45,000, 000! *50% 45,000
= 45,000
S EZSHE A 136,250 316,250 180,000
= 125,000
= 11,250
308 XI X EHHI S 136,250 316,250 180,000
= 125,000
= 11,250
01 REXISHAIZ 136,250 316,250 180,000
Os0ZEZ L&A K@ 136,250
= 125,000
= 11,250
SX0I822I0I3 296,629 299,664 £3,035




SN S
HH: g AEBSE
Sl HOls oIy chel &
S EH S (BIH) - MEAY - B A gggf; HRS2
J| 296,629
308 AtXI SISOl A 296,629 299,664 A 3,035
J| 296,629
01 AXIEMBIAEEZ 296,629 299,664 A 3,035
OsXols2el XA 296,629
J| 296,629
TAIQ sSERX 156,000 260,000 A 104,000
= 120,000
= 36,000
308 AtXI SISOl A 156,000 260,000 A 104,000
= 120,000
= 36,000
01 IXIESHIBAEXZ 156,000 260,000 A 104,000
OZAB sE=8I A& 156,000
= 120,000
== 36,000
S0 &g K& 47,400 63,990 A 16,590
= 42,000
& 5,400
308 KX SISOl A 47,400 63,990 A 16,590
= 42,000
& 5,400
01 AXSHIBAEXZ 47,400 63,990 A 16,590
OA=sel sk 47,400
= 42,000
== 5,400
MOUENEOE MPEHI(EX) 250,608 241,056 9,552
= 195,600
& 55,008
308 ARSI SO0l H 250,608 241,056 9,552
= 195,600
= 55,008
01 AXIEMBAERS 250,608 241,056 9,552
O=ZHE0s MREHE X (EX) 250,608
= 195,600
== 55,008
sEME0S 2z 3,400 4,900 A 1,500
201 LBEt2HH| 3,400 2,800 600
03 A2 H| 3,400 2,800 600
O=&HM&a0t2 2l tal 3,400
-, M ¢ 2AME S 3,400
HsCl sIt=82lHl K& 30,000 0 30,000
403 XXM S A20| A 30,000 0 30,000
01 AXI SN A2E X 30,000 0 30,000
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30,000

H o
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79,703,000
11,626,209
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H o
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264,000

—_

3,310, 143
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H o

1,496,000
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3,310, 143

A 1,814,143

sHEHI0E

0
FA
X

H o

,844,500

,265,000
,579,500

— 01 O

3,773,900

3,070,600

403 Xk XIEHX

IS A=01&

H o

,844,500

,265,000
,579,500

3,773,900

3,070,600

01 RbX| &t
O=s0

PR

88X
ZHOSE ZdAY

H o

,844,500

,265,000

6
5
1
6,844,500
6
5
1,579,500
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3,070,600

H o

6,630,929
5,462,000
1,168,929

9,457,143

N2,826,214

H o

,630,929

,462,000
, 168,929

9,457,143

N2,826,214

01 X+XI &
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H o
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1
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6
5
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SN sHIHY
N gAHUEs YESE
Bl SEFFO0IAMM (oA
_ _ _ Muo
SA B G(E) - NEAY - B O & o4 i HREZ
403 KX S H S AH2 01 & 20,295,743 18,432,957 1,862,786
2 17,984,500
< 2,311,243
01 HXISHR=EE 20,295,743 18,432,957 1,862,786
OsZ0t2 S8HLAY 20,295,743
z 17,984,500
= 2,311,243
SEMEET Ty 9,363,757 14,078,471 4,714,714
2 8,297,000
= 1,066,757
403 KX S HI S AH20| & 9,363,757 14,078,471 4,714,714
= 8,297,000
= 1,066,757
01 HXISHR=EE 9,363,757 14,078,471 4,714,714
OsZM% SIZUIAY 9,363,757
z 8,297,000
< 1,066,757
HeAOle =4 1,083,429 888, 186 195,243
2 960,000
= 123,429
403 XtXI S S AH2 01 & 1,083,429 888, 186 195,243
o 960,000
= 123,429
01 HXISHR=EE 1,083,429 888, 186 195,243
OMLANS ZHAEY 1,083,429
z 960,000
< 123,429
SUHATHX ZEHY| 42,940,851 28,324,886 14,615,965
2 38,049,000
= 4,891,851
403 KX SRS KH2 0| & 42,940,851 28,324,886 14,615,965
2 38,049,000
= 4,891,851
01 X SHH =L E 42,940,851 28,324,886 14,615,965
OSSATK SEHUIAY 42,940,851
2 38,049,000
[ 4,891,851
I ZME olTet Hy| 2,432,000 5,170,171 ~2,738,171
2 2,240,000
= 192,000
403 KX SHHI S KH2 0| & 2,432,000 5,170,171 ~2,738,171
2 2,240,000
= 192,000
01 X SHA =L = 2,432,000 5,170,171 ~2,738, 171
OJ|Z A S0 T 2} X H At 2,432,000




SN SEMY
By gUQs YESE
9 SEFE0ANA (Ere): & 2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
& 2,240,000
= 192,000
SSE3 MY 237,000 0 237,000
= 210,000
& 27,000
403 XXM SA20| A 237,000 0 237,000
= 210,000
= 27,000
01 AXEHA=E2EER 237,000 0 237,000
OSs2sT4d MY 237,000
& 210,000
== 27,000
SsHoI=XSA 5,826,213 5,912,835 86,622
2 1,729,728
= 63,384
== 4,033,101
SHOICHH &AL 142,000 168,000 N 26,000
307 212+01 A 142,000 168,000 N 26,000
04 QIZ2ESHALE = 142,000 168,000 A26,000
OsgoltNEos el stote At 10,000
O=Relzsdt=a XA 0l A 14,000
ON=s==THW JIZS0IE AL 20,000
Od=2=s8ll=X =Us H=A 6,000
O&E=gol M=tz &It 20,000
OsgddEel =g Izl 72,000
SHEE M3 125,043 126,780 N1,737
308 XX SHHSOIA 125,043 126,780 N1,737
01 AXIEMBAEEZ 125,043 126,780 N1,737
O=gdaM s23% 32033 113,043
Osgll=s 382X M3 12,000
SOl ot S A 197,500 168,178 29,322
308 AtX| SISOl A 197,500 168,178 29,322
01 IXISHIBAEXZ 197,500 168,178 29,322
O=gol ot B M It X & 197,500
ASsitd SAHXA 105,640 105,640 0
= 63,384
& 42,256
308 KX S SO0l A 105,640 105,640 0
= 63,384
& 42,256
06 I 2 Ust2x3 105,640 105,640 0
OXNE=sd SAH X3 A 105,640
= 63,384




SN SAEHMY
Hal: gEQs YEsE
S L EDES (e @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
| < 42,256
SOIQIRtL SRS 1,208,366 1,506,908 £298,542
308 X+XI €+ HI S 0| & 1,208,366 1,506,908 £298,542
01 XS HELBES 1,208,366 1,506,908 298,542
OS0 ARSI X X2 A (01) 1,208,366
OlES0{AOINE 29 63,000 46,200 16,800
308 XX EHHI S OI & 63,000 46,200 16,800
NP CEFENEES 63,000 46,200 16,800
OOl &S 0{AOIME SHXI2 A (0) 63,000
=t €20 158,400 160,000 A1,600
308 XX EHH S 01 & 158,400 160,000 A1,600
01 KRG B A 2 XS 158,400 160,000 A1,600
OSIHER0IA (012) 158,400
S0E BS012 Ha 2,666,664 2,269,005 397,659
=2 1,729,728
= 936,936
308 X+XIEHHISOI & 2,666,664 2,269,005 397,659
= 1,729,728
= 936,936
R EEENEES 2,666,664 2,269,005 397,659
OS0E2SDA SEaR4Y 2,666,664
= 1,729,728
= 936,936
Ol s0120l S H AL 1,073,800 1,279,424 A205,624
308 XX £HHI S 01 & 1,073,800 1,279,424 £205,624
01 KHXISHH B A2 ES 1,073,800 1,279,424 A205,624
OO &0l 2R H 1,073,800
FAOBIRE S| 2Et3 5,000 5,000 0
310 22/0I& 5,000 5,000 0
NS 5,000 5,000 0
OFM0EI =& 3l 293 5,000
SISERES 80,800 77,700 3,100
201 L2 Y| 32,400 32,400 0
01 ALR eIt 32,400 32,400 0
OYB B (LB +2H) 31,000
OB (SHHUET SH2Q) 1,400
203 YR =] 48,400 45,300 3,100
03 Al B ER YR =T Y| 48,400 45,300 3,100
O=HAMEZ 39,400




SN
X XH .
S Tt

el

OF M o
e J¥ 12
re 2 oA

Jrr gz
02
O
O

[
2

20
B
2

OsHBIHH 2t& 9,000
SstAY |4 5,770,919 5,842,817 AT71,898
= 77,455
= 3,961,600
= 1,731,864
SolsatES HAIEOH AL 6,000 6,000 0
307 2IZ2tol & 6,000 6,000 0
04 QIZFHALE & 6,000 6,000 0
O&32s sit= 6,000
SESNMSHANEMHEAS 5,000 5,000 0
201 224 5,000 5,000 0
02 33244 5,000 5,000 0
OAl £ ZHIK Xl 5,000
- SESLUSTEA 5,000
NEES IS & Xl=el 6,900 6,900 0
202 O4Hl 6,900 6,900 0
01 SLHAbI 6,900 6,900 0
OsXdEg 3IHE2 6,900
MsZEMELS =4 796,320 692,943 103,377
= 705,600
< 90,720
403 XXM S =01 796,320 692,943 103,377
= 705,600
S 90,720
01 AXSHHX=2EE 796,320 692,943 103,377
OsMsENS0S 796,320
= 705,600
S 90,720
EFM K& 78,000 52,000 26,000
= 60,000
= 18,000
308 XtXIEHMSO0IE 78,000 52,000 26,000
= 60,000
= 18,000
01 AXEHMESEXS 78,000 52,000 26,000
OsZE=HM XN& 78,000
= 60,000
S 18,000
SENMY =4 1,960,000 720,000 1,240,000
= 1,600,000
= 360,000
308 XtXIEHMSO0IE 1,057,000 720,000 337,000
& 832,000

@




SN SRR
Ha: g YEsE
o9l NASHAY R4 (B9 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES (il & OH Ofl At ot HwsZ
= 225,000
01 KIXISHH B A 2 XS 1,057,000 720,000 337,000
OBFEAASHAL (FA) 1,057,000
z 832,000
= 225,000
403 XX EHHI S K2 0| & 903,000 0 903,000
3 768,000
= 135,000
01 XX SHHIXH2 2 & 903,000 0 903,000
OBENYSHAY (RE) 903,000
=l 768,000
= 135,000
UL HIF N SR 19,699 39,774 £20,075
3 17,455
= 2,244
308 Xt XI £HHI S 01 & 19,699 39,774 £20,075
2 17,455
= 2,244
01 XIS B A2 ES 19,699 39,774 A20,075
OYBRHFNZH 19,699
= 17,455
& 2,244
RN A A 346,000 312,000 34,000
el 346,000
308 Xt X EHHI S 01 & 346,000 312,000 34,000
3 346,000
01 KHXISHH B A B XS 346,000 312,000 34,000
ORZEX HAIY 346,000
2 346,000
IS = FL=Z AYAS 189,000 0 189,000
403 XSRS XH= 0| H 189,000 0 189,000
01 XX SHHIXH2 2 & 189,000 0 189,000
OMME =MZEL=T X4 189,000
S42 RME IS - RE NEX 1,572,000 1,933,200 A361,200
3 1,310,000
= 262,000
403 REXI EHHI S K2 0| B 1,572,000 1,933,200 A361,200
3 1,310,000
= 262,000
01 XHXISHHIXH2 2 & 1,572,000 1,933,200 A361,200
Os42 HE  JIB - RS &N 1,572,000
=l 1,310,000
= 262,000
OIFE SEOIS BHED 792,000 0 792,000




SN
X XH .
S Tt

el

K- B3 S (3IH) - NEAY - Ba 2 e =32t
403 XXM S X 792,000 0 792,000
01 AFXIEHHI X2 82 792,000 0 792,000
Ossdat2 22|
12,000,000 #2000 & 11 Al =2 *30% 792,000
HHMSAAH (s E A 86,922 87,462 AB40
| 86,922 87,462 540
=34t 86,922 87,462 A540
201 Let2HH| 18,942 18,942 0
01 AtR2t2|dl 18,942 18,942 0
(OPIR=E=1s 7,964
(OPIE=r=1=1s] 10,978
202 o4 Hl 41,580 41,580 0
01 2] 41,580 41,580 0
o210yl 41,580
203 R =&H| 26,400 26,940 A540
01 D222 =&Y 6,600 5,940 660
Osd=2% 6,600
04 EASHERE=EH| 19,800 21,000 A 1,200
O=sgd &yt 4,200
Oz AHAT& 1t 4,200
O'lSSASH 3,000
OF 41 4,200
Odte =X 1t 4,200

_10_




